

تکلیف ۱۱

A ۱۲

۲۰

$$\lim_{n \rightarrow a} f(n) = f(a) \Rightarrow (ra^r + ma^r - ra^r + a^r) = 0 \Rightarrow ra^r + ma^r - ra^r = 0 \Rightarrow a^r(r + m - r) = 0$$

$$\Rightarrow ra + m - r = 0 \Rightarrow m = r - a \Rightarrow ya^r + (m + r)a + \frac{m}{r} = 0$$

$$\Rightarrow ya^r + (r - ra + r)a + \frac{r - ra}{r} = 0 \Rightarrow ya^r + 2a - ra^r + 1 - a = ra^r + (a + 1) = 0$$

$$(ra + 1)^r = 0 \Rightarrow ra = -1 \Rightarrow a = -\frac{1}{r} \Rightarrow m = r$$

$$\Rightarrow \sqrt{4n^2 + 4n + \frac{r}{r}} = \sqrt{\frac{r}{r}(4n^2 + 4n + 1)} = \sqrt{\frac{r}{r}} |2n + 1|$$

$$\Rightarrow |2n^2 + \frac{1}{r}| = |\frac{1}{r}(4n^2 + 1)| = |\frac{1}{r}(2n + 1)(2n + 1 - 2n)|$$

$$\Rightarrow \lim_{n \rightarrow a} \frac{\sqrt{ra} |2n + 1|}{\frac{1}{r} |2n + 1| (2n + 1 - 2n)} = \frac{\sqrt{ra}}{\frac{1}{r} (\frac{r}{r} + 1 + 1)} = \frac{\sqrt{\frac{r}{r}}}{\frac{r}{r}} = \frac{\sqrt{r}}{r} = \frac{\sqrt{r}}{r}$$

$$\frac{r \tan b}{\sqrt{\frac{r}{r}}} = r\sqrt{r} \tan b = \frac{r\sqrt{r}}{r} \tan b = \tan b = \frac{\sqrt{r}}{r} \Rightarrow b = \frac{\pi}{4}$$

$$\lim_{n \rightarrow 1} \frac{2^n + an + b}{n - 1} = \frac{0}{0} \Rightarrow 2^n + an + b = 0 \quad \text{و} \quad 2^n - an + b = 0 \Rightarrow \begin{cases} b - a = -2 \\ b + a = -1 \end{cases} \Rightarrow \begin{cases} b = -\frac{3}{2} \\ a = \frac{1}{2} \end{cases}$$

$$\tan \frac{\pi}{4} = -1 \Rightarrow \lim_{n \rightarrow 1^+} \frac{(n + r)(n - 1)}{a(1 - n)} = -\frac{r}{a} = -1 \Rightarrow a = r$$

$$\lim_{n \rightarrow \infty} \frac{\ln^2(n - r)}{r(1 - n)} = -\frac{r}{r} \Rightarrow f(\infty) = b(x_0 + \infty) = -\frac{r}{r} \Rightarrow b = -\frac{r}{r_0}$$

$$a[n] + a + b[n] + b[a] + b \Rightarrow b = -a \Rightarrow a + -a[a] - a \Rightarrow f(n) = -a[a]$$

$$\Rightarrow \frac{a[a]}{f(a)} = -1$$

$$b = 0 \Rightarrow f(n) = -ra \Rightarrow \frac{a}{-ra} = -\frac{1}{r}$$

$$a^r + am + h = 0 \Rightarrow \frac{ra^r + ram + h}{-a} \Rightarrow a^r + am + h = -ra^r - ram - h$$

$$\Rightarrow ra^r + am = 0 \Rightarrow a(r + m) = 0 \Rightarrow \begin{cases} a \neq 0 \\ m = -r \end{cases} \Rightarrow a^r - ra^r + h = 0$$

$$\lim_{n \rightarrow a} \frac{n^r - ran + ra^r}{a \cdot n} = r \Rightarrow \frac{(n - ra)(n - ra)}{a \cdot n} = r \Rightarrow a = r \Rightarrow h = 1 \Rightarrow m = -r$$

$$h - m = 1 + r$$

$$[-n] = -1 - [n] \Rightarrow f(n) = (1-a)[n] + (a^r-1)([-n])$$

$$\Rightarrow f(n) = (1-a)[n] - (a^r-1) - (a^r-1)[n]$$

$$\Rightarrow f(n) = ((1-a) - (a^r-1))[n] - (a^r-1) \Rightarrow f(n) = (1-a-a^r)[n] - a^r-1$$

فرض برین

$$\Rightarrow 1-a-a^r=0 \Rightarrow a=-1, \frac{1}{r} \Rightarrow 1-a^r = f(n)$$

(y)

$$\Rightarrow 1-a^r = b \sinh\left(\frac{n}{a}\right) \Rightarrow a \neq -1 \Rightarrow a = \frac{r}{r} \Rightarrow -\frac{1}{r} = -b \Rightarrow b = \frac{1}{r}$$

$$\Rightarrow \frac{a}{b} = \frac{\frac{r}{r}}{\frac{1}{r}} = r$$

✓

$$\lim_{n \rightarrow 1} \frac{|(n+m+1)(n-1)|}{|(n-1)(m(n+1)+1)|} \Rightarrow \frac{r+m}{|r+m+1|} = \frac{m}{m+r} \Rightarrow m^r - r m - r = 0 \Rightarrow m = r, m = -1$$

if  $m = -1 \Rightarrow 1 = -1 \times \Rightarrow m = r \Rightarrow f(n) = \frac{|n+m+1|}{m|n+1|+1} \Rightarrow f\left(\frac{1}{r}\right) = \frac{(\frac{1}{r}+1)}{1}$

$$\Rightarrow \frac{\frac{r}{r}}{1} = \frac{r}{r} = \frac{r}{r}$$

✓

(y)

$$\lim_{n \rightarrow a} \frac{\sqrt{r}|a(n+a)|}{|n^r + (m-r)n + a^r|} \xrightarrow{0/0}, \sqrt{r}|a(a)+a| = 0 \Rightarrow (a^r+a) = 0$$

$a=0, a=-1 \Rightarrow (-1)^r(m-r)(-1) + (-1)^r = 0 \Rightarrow m-r=0 \Rightarrow m=r$

(y)

$$c) \lim_{n \rightarrow -1} \frac{\sqrt{r}|n-1|}{|n^r+1|} \Rightarrow \frac{\sqrt{r}|n+1|}{|n+1| \times |n^r-n+1|} = \frac{\sqrt{r}}{|n^r-n+1|} \Rightarrow \frac{\sqrt{r}}{|1+1|} = \frac{\sqrt{r}}{2}$$

✓

$$n=0 \begin{cases} + \\ - \end{cases} \begin{cases} \frac{n^r+a}{n^r+an} = \frac{n+1}{n+a} = \frac{1}{a} \\ \frac{n^r-n}{n^r-an} = \frac{n-1}{n-a} = \frac{1}{a} \end{cases} \Rightarrow \frac{1}{a} = \frac{r a - 1}{r a + r} \Rightarrow r a^r - r a - r = 0$$

(y)

$$\Rightarrow a = -\frac{1}{r}, r \checkmark \Rightarrow f\left(\frac{1}{r}\right) = \frac{\frac{1}{r} + \frac{1}{r}}{\frac{1}{r} + 1} = \frac{\frac{2}{r}}{\frac{1+r}{r}} = \frac{2}{1+r}$$

✓

نکته  
در  $\frac{1}{r}$